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Which macromolecule is involved in POFENEE- 13- T #.’3 Bd gdll aduall ggiall L

nearly every function in the human body? *‘h.bu Ol

Al jall palall) Sl A
118 o

Carbohydrate s sl -~ o

Protein




Which of the following substance
produces OH™ ions when dissolved ?eladl g,a ke ae OH™ s:'l.‘u._ﬁ E.‘i.‘u"‘ ) Baladl L

in water?

The buffer f..Lth

The acid aanll - c

The base sl 4



Which do scientists use to cut genomic DNA into DNAJ) ahail plalal) daddies o)) La

smaller fragments to isolate specific genes? fiima Gl (5l el el ) LAY

DNA ligase DNAJ dasy a3l

Transgenic bacteria

Recombinant DMA




Which substance is not part of a nucleotide? SadoulSouill fa Ipm i Y () Balad) La

At pal) Apadatl) la Al

118 o
A phosphate Sl

LR |

A base selll b

A sugar - R, c
............................................................................................................. -
'

Water sl 1 g
1
o



A chemical reaction is a process by which (PR) EQEVIPR - INPI (el ol
atoms or groups of atoms in substances ‘f' Bdgagall Syl GlS gasa j )yl
are . . 2 gad)

dlasi pal) draiasl) Cila Al

d11 o

il dse B SLSAL

Dissolved in other substances -

cligiay G 3k e L
lonized by the loss of protons -,
oAl dsa A e 2LVl

Mixed together with atoms in other substances O

T =

@Al dse I Jimalls

Reorganized into different substances o d



Which substance would be extensively studied Ciata (€8s ol A0 lgall e ;‘gi

during a college organic chemistry course? Tdaalal) 2 dggimd) plaasll e oL

A1ass pall Araddal) Cila Al
118 ¢

1
Glucose 3Sslall s d
- I -



For what purpose is DNA fingerprinting used? el sl Aaad) asdiul Al ,ﬁ

Adasi pal) dvanietl) il A a0l

137 o

To sequence DNA from bacteria LaSl e DNAD Jols sl
To separate DNA fragments DNA J olial Jusdl S b

To identify single nucleotide polymorphisms &l clagsul€enl) JIKE sad Ve maadl c



What percentage of nucleotides in the human pgiadl A Bagagall Sladplssll fa Agglall dsadll s

genome are responsible for encoding proteins (5,3 Bagagall Cilidig al) Huadl 0@ Adg husally (Sydl)
in the body? ¢ awl)

Ayt pall dadal) Sl Aal)

136 o



What is the role of the molecule below CDNA 1) #Laiiul ga slaaf Dlgd e Sadl yga ke
in DNA cloning?
Restriction { f/,l’ -~ Restriction sl [ A a .
enzymesiie\l“' J <\ ™ enzyme site ehallpplele ) Sy =, el pepledes
;b A N A
.\\‘ g L) ——
:\ & Restriction \"‘ :\
& & enzyme site > ainalc :-* ehall 5] s
:"2' Antibiotic LY ~ ’I "”I Y
Restriction =, resistance gene _{ ) adazll pas) pgs 2 - gl ala (
enzyme site .p:,\ P )y 2 53] = ol 2 )
ROV \"'UG{) J

Aaaall Aal oty ) (Laoll DNA D (i
To carry the foreign DNA into the host cell -,

Juas asl o DNA I jaice uaan

To identify the source of DNA as foreign -,

Cotmall pall ol o) Adazdl AR aas
To identify the host cell that has taken up the gene of interest —,

GilasitY) eske e gl S Jiall DNA I (e

To make the foreign DNA susceptible to digestion with enzymes ]




Based on the comparison of the ZEUal Jalas 92 JelEl e e ) e

B Ay Al chean b Laa (g colial pald
e rilansll e lann)

reaction progress in the energy diagram
below, which of the following describes
the effect of the enzyme on a chemical

reaction?

Energy Diagram

= 4 X=X s MO
= B
= )
wilth encyme o = L
m— writhout enzyme - S e
Reaction progress sl Lasdl a aas

el ol Lol 2l 1Y) dgmg 23

The presence of enzyme increases the activation energy of a chemical reaction .

Ao ol Ll 38 1 3m s

The presence of enzyme decreases the activation energy of a chemical reaction b

el dololl botall 8k o miYl dsag S5 Y

The presence of enzyme does not affect the activation energy of a chemical reaction -,

Hhoasll Jolioll loutonl) 2l oY) ls adhs

The absence of enzyme decreases the activation energy of a chemical reaction — g4




Which of the following is not true about

pure water?

A ol o bl Y b Las g

Al pal) dadadl) Sl Al

114
................................................................ -
1

It has a pH of 7 T v Jumgpagll add, | g
................................................................ H

It is composed of polar molecules Aaakl i e O9SB b

It is a good solvent da Gule oy o

It is cohesive but not adhesive faal b iSuldie Bale pfes o) g



In the figure below, which letter indicates the

amino acid hormone?

&)
T e
R

\
W

C el (haall fpa N jads cja (gl colidf i B




In the figure below, the Ietter(A} indicates: ) (A) Ciall b ol Jea (f'

R Variable side chain BN 2sais aale Al
| |
i el H:N— C —C —OH— (A)
Hydrogenatom H O *I_| :
Amino Acid L

dast pal) At Sila Al

119 »
............................................................................................................. -

Hydroxide group 285508 dogene o) o
............................................................................................................. a

phosphate group Aoliudd Ao gena b

Amino group Ll dogene

Carboxyl group UINLPTY. -V



Which statement about the human genome is false? 4kl (5,4l aghadl Adlaiall AJ0N Sfjlall Ca q;i

A pall dpagleill iy Al

136 o

i 2300000 it e Ao il asiall gias
The human genome contains approximately 25,000 genes

Ay e Al (92 e (DNA) (g35ill Gameall bl wiloliia) Jo (g)lll agiall (sas
The human genome contains long stretches of DNA with no known function ~
S aguall Jobos caifin allel glasl UK he slalo Hl8

The human genome was sequenced by scientists from around the world

wilidep S Sep clanglSes clluls o syl agiall sing
The human genome contains nucleotide sequences that all code for proteins O d



The antidiuretic hormone regulates : ) Jad) Jh3Y allaall & ga el M

Al jall dpalell) cila Al

1.1.10 o
Calcium  agldiSl -~ o

Glucose  3sSslall -~ b

Sodium  agipall o



Which of the following is not a

characteristic of enzymes?

ol pailad e gl b Las g

Not consumed in the reaction Jelall A Sllgmay
- LR |

Cannot be used again Al 5 lgaladn) Sa Y d



Which hormones are released from nerve cells dguanl) LAY 8 i A0 Siliga,gd) o q;i

rather than from endocrine glands? ?elaall 2addl e 'f.g

Aagi pall Apaylell) iy il

1.1.10 o

Sals Gt il
Norepinephrine and epinephrine -

s lSolally Gudgudy)
Insulin and glucagon

oS35 5l Gpap

Growth hormone and thyroxine -,

Cms €YYy Jadl Y sliaal) el
Antidiuretic hormone and oxytocin ~, 4



Which is the process that scientists use to produce Jae Y slalall lgeaddey ",:.u Aalanll La

large numbers of recombinant DNA molecules? TonS il dlaa (F3 58 paa Ciliija (e Bt
Alasi pall dantatl) Sl Al
133 o
Gel electrophoresis e
Polymerase chain reaction ezl 5all ol O b

Recombinant DNA technology Sl sles g9l (meall Aaf - o



134

AO.

BOI.

cO.

DO .

b

The central dogma is that the information in
genes flows from DNA to RNA and RNA to
proteins. In the figure below, which letter

refers to the mRNA?

Glial) 3 5agasall Clagheall G (Eal) Tasall ny
) adag (Gl Gasill paeal) ) DNA ) G (380
UMRNA 1) s cia (of coliaf JS81) B . lig )

to form proteins)

A -

8-




What is the genotypic ratio of the 2 sl gl (B el A Al okl A L

offspring in the cross illustrated below? eslial e sl
Heterozygous white reon PV Y.
grapefruit bl callsc,
w w W w
3 =
1 I3
1:3 . =! w Ww ww 1 W Ww wWw
3 0 .
1:0 o 4
1:2:1 c



A Jllaall 8 55 S e B LSS e 28 LA 3100 S
Leaves always showed less starch than sucrose in all three solutions O .a
o g
jul;m o Sl CL.J!J Ll 2l el all Jolas 3

Trehalose solution increases starch production and sucrose production in leaves

L) 20€ By 39 €l 2 0] cmig 3101 3 Lol ) Gallg A Jglae

Trehalose solution increases starch production in leaves and decreases sucrose production almost entirely c

Sl 21 iy BhA 8 LA b 5 €l Qe it

Sucrose solution decreases starch production in leaves and increases sucrose production — 4

Starch is the major carbon storehouse in plants.

Experiments were performed to determine if
trehalose might regulate starch production in
plants. Leaf disks were incubated for three
hours in sorbitol [cnntml}, sucrose, and
trelahose solutions. Then, levels of starch and
sucrose in the leaves were measured.

Which of the following conclusions might the

researcher have reached based on these data?

mdmtinn of Starch and Sucrose

L Starch
B Sucrose

'R |

—
Sucrose sodution Trehalose solution

DB b ) (SN (338 Sipdlt| B3
Jotlgatl Ao lauls s 13) L aua®t cylas Sujals
Oa il SIS LS B Sl g ) alali
Jeall Joflas LB Slel S35 Baal DL 3l
Slagian (B a3 AL el lly g Sutly (aliall)
B b guadly sl

Bl Cugiall gl Juagh S TG SlAEEAY) G o
Tolilad) sha o

T
| -

. —
Adnghoadl ol !y el phes gl Y s




Which two elements are always found Uah:fm ga Gadla Sldagds olA o) adadl La

in amino acids? Al

Nitrogen and sulfur — <uyslly fpag gall

Hydrogen and phosphorus steadlly fpmg gl

Sulfur and oxygen oSy cupll



The graph below shows the blood glucose levels A jsplall Sligic sl () il g

over a period of time. Which hormone might il gl Cpa ;‘gi O O B eaa e adll
have caused a sudden surge as indicated by the faliadl gL gﬁ ] (5% B ALY
arrow? Taguall ad) HLiiall

Blood

Glucose

Level \

ﬁ- ) '
Time e

Antidiuretic hormone  Jsdl J1aY slzaal Ggapell o

1
Growth hormone el Caayh 8 b
.......................................... X
Insulin eVl
Glucagon GealSalall d




Which of the following is a .
fomdill s Jias b e g

disadvantage of hybridization?

Al jal) Apadatll ila A4l
131 o
iliall daall LBl Lo fuagal)

Hybridization is harmful to the affected organisms -, a

32 il (e Ba i il

Hybridization is inferior to genetic engineering -

.b
--------------------------------------------------------------------------------------------------------------- o
Hybridization is technically difficult to perform -, c

Sy gl digiy gl

Hybridization is time—consuming and expensive ~ 4



Which endocrine gland would provide a burst of energy to

a person moving out of the way of a speeding bicycle?

Tl (pa dad a2 plasa B ]
Pas it Al i (F e gl

Parathyroid

Adrenal

ady chlall - c

Akl -~



